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1. Which of the following programming languages does Spark implement?

A. C

B. C + ten

C. JAVA

D. Scale

Answer(s): D

2. Fusionlnsight Manager's service management operations. What is wrong with the following
statement?

A. The service can be restarted

B. Services can be added and uninstalled

C. Can be set to hide or show infrequently used services

D. You can view the current status of the service

Answer(s): C

3. Fusioninsight HD cluster upgrade, is the following description correct? (Multiple choices)



A. Do not manually switch the active and standby OMS during the upgrade process

B. The root account password of all hosts in the cluster must be consistent

C. Keep the network open and avoid abnormal upgrades due to network problems

Answer(s): A B C

4. What is the role of the Connector when the Fusionlnsight HD Loader creates a job?

A. Determine what conversion steps are in place

B. Provide optimization parameters to improve data import and export performance

C. How the configuration job connects to an external data source

D. How the configuration job connects to internal data sources

Answer(s): C

5. Which of the following HDFS commands can be used to check the integrity of a data block?

A. hdfs fsck / (correct answer>

B. hdfs fsck / -delete

C. hdfs dfsadmin -report

D. hdfs balancer-threshold 1

Answer(s): A

6. Which parameter needs to be configured in YARN to set the maximum usage resource of
queue QueueA?



A. yam.scheduler. Capacity.root ^ Queueuser-limit-factor

B. yarn.scheduler. Capacily.root ^ QueueA.mini mum-user-limit-percent

C. yarn.scheduler.capacity.root ^ QueueA.state

D. yarn.scheduler.capacity.root ^ QueueA.maxirnum-capacity (correct case)

Answer(s): D

7. The data stream of FIume can be sent to different channels according to the header
information.

A. True

B. False

Answer(s): A

8. What interfaces does Fusionlnsight Manager support when connecting to an external
management platform? (Multiple choices)

A. SNMP

B. VPN

C. BGP

D. Syslog

Answer(s): A D

9. What information is included in a KeyValue format in the HBase data file HFile? (Multiple
choices)



A. Key

B. Value

C. TimeStamp

D. Key Type

Answer(s): A B C D

10. When planning and designing a Fusionlnsight HG cluster, the cluster has 150 nodes and is
not deployed in a dual-plane network. For the description of the cluster network requirements, the
following insertions are correct:

A. All nodes in the business plane use 10GE networks

B. Control nodes in the management plane use 10GE networks

C. Data nodes in the management plane use the 1GE network

D. Control nodes in the service plane use 1GE networks

E. Management nodes in the management plane use 10GE networks

Answer(s): A C E

11. Each stage of a Spark task can be divided into jobs, and the score is marked as shuffle.

A. True

B. False

Answer(s): B

12. A Fussinsight Manager is incorrect about the configuration function of the service?



A. Service level configuration takes effect for all instances

B. Instance-level configuration takes effect only for this instance

C. Instance-level configuration also works for other instances

D. The configuration needs to be restarted after the configuration is saved. The service takes effect

Answer(s): C

13. About the Fusioninsight HD installation process is correct?

A. Install Manager-> execute preinstall-> LLD tool to configure-> install cluster-> check after installation->
configure after installation

B. LLD tool configuration-> execute preinstall-> install Manager-> install cluster-> check after installation-
> configure after installation

C. Install Manager-> LLD tool for configuration-> perform Reinstall-> install cluster-> check after
installation-> configure after installation

D. LLD tool for configuration-> execute preinstall-> install cluster> install Managers-> check after
installation-> configure after installation

Answer(s): B

14. When deploying Solr on Fusionlnsighr HD, if you choose primes to be stored on local disk, it
is recommended to give each SolrSeiver:

A. Yes

B. False

Answer(s): A

15. Regarding Kerberos deployment, what is the correct description?



A. Kerberos has only one role

B. Kerberos service has two instances on the same node

C. Kerberos service is deployed in active / standby mode

D. The Kerberos service must be deployed on the same node as the LDAP service

Answer(s): B

16. A Fusioninsight HD cluster planned by a certain bank has 90 nodes. If 3 control nodes are
planned, the recommended data nodes in the cluster are:

A. 87

B. 85

C. 90

D. 86

Answer(s): A

17. Before installing the Fusioninsight HD software package, you must set the host names of all
nodes in the cluster in the node's / etc / hosts file:

A. is correct

B. False

Answer(s): A

18. In the customer IT system, the FusionlnsightHD cluster has 150 nodes, each node has 12
disks (not Raid, not including OS disks), each disk is 1T, only HDFS is installed, and how much
data can be stored according to the default configuration?



A. 17MIB

B. 1800IB

C. 600TB

D. 588TB

Answer(s): D

19. What host operating system does Fusioninsight HD node not support?

A. Suse 11.1

B. RedHat 6.5

C. CentOS 6.4

D. Ubuntu 11.04

Answer(s): D

20. In FusionlnsightHD, if you need to view the users and rights groups currently logged in to
HBase, what commands can you execute in the HBase shell?

A. use_pemission

B. whoami (Orthophosphoric answer)

C. who

D. get_user

Answer(s): B




